

VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RFQ NUMBER

PAGE

ADDRESS CORRESPONDENCE TO ATT

BUYER 42 304-558-8802

SHIP TO

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

ADDRESS CHANGES TO BE NOTED ABOVE

State Electric Supply Co. 2010 2nd Ave. Huntington, WV. 25703

DATE PRINT	ED	TER	MS OF SAL	t	SHIP-VIA	F.O.B	FREIGHT TERIVO
09/27/							7.004
BID OPENING DATE:	DOLLARS CARCAGO	10/27/	2011	DESCESSIVE AND A	BID_	OPENING TIME O	1:30PM
LINE	QUA	YTITY	UOP	CAT. NO.	ITEM NUMBER	UNIT PRICE	AMOUNT
	THE WEBIDS FSUPPLYTO ALLSUBDIV INQUIR WRITTE OF BUS ANSWER ISSUED HAS LA	ST VIR OR A B SMALL WEST VISIONS RES: SINESS RED BY D BY TH APSED. IAIL. IR R ADVAN RED ORA	GINIA LANKE DISP VIRGI PER TIONS ON 10 FORMA E PUR QUEST N ORD TAGE,	PURC T OPE OSABL NIA S THE A SHAL /11/2 L ADD CHASI IONS ER TO	HASING DIVISION N-END STATEWIDE E AND RECHARGEAB TATE AGENCIES AN TTACHED SPECIFIC L BE ACCEPTED TH 2011. ANY WRITTEN ENDUM TO BE MAY BE SENT VIA D ASSURE NO VENDO SUBSTANTIVE QUEST DSSIBLE E-MAIL QUEST	IS SOLICITING CONTRACT TO LE BATTERIES D POLITICAL ATIONS. ROUGH THE CLOSE QUESTIONS WILL ER THE DEADLINE USPS,FAX,COURIE OR RECEIVES AN TION WILL BE	
	GUY NI DEPARI PURCHA 2019 V CHARLE	TMENT O	F ADM IVISI TON S WV. 2	11N1S1 ON STREE1 25305-		2011 OCT	CEIVED 27 AM II: 09 URCHASING
0 0 0 1	DRY C	1 ELL BA	EA		450-06 LASHLIGHTS AND L EVERSE SIDE FOR TERMS AND C	ONDITIONS	
SIGNATURE 72	: R1	•			TELEPHONE	1 523.74GI DA	TE 11/27/11

55-0384235



>EZDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RFQ NUMBER DCBATT11A

ADDRESS CORRESPONDENCE TO ATTENTION OF:

ADDRESS CHANGES TO BE NOTED ABOVE

BUYER 42

304-558-8802

Ö

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

STATE ELECTRIC SUPPLY CO.

2010 2nd Avenue Huntington, WV 25703 304-523-7491 Toll Free 1-800-624-3417 Customer Focused, Quality Driven

DATE PRINT	ED	TERI	MS OF SAL	E	SHIP VIA		F.	O.B.		FREIGHT TERMS
09/27/	2011	constant and the services								
BID OPENING DATE:	1	0/27/	2011			BID	OPENING	TIME	01:	30PM
LINE	QUANTI	ŤΥ	UOP	CAT. NO.	ITEM NUME	BER	UNI	TPRICE		AMOUNT
		CONT			IS CONTRAC A PERIOD C			ECTI V E (DN	
,	YEAR OR NECESSA ORIGINA NOT EXC TIME" T	UNTI RY TO L CON EED T HE VE UPON	L SUC OBTA TRACT WELVE NDOR GIVIN	H "RE IN A . TH (12) MAY T	ASONABLE TO SERVICE TO	TIME" T ACT OR ABLE TI DURING THIS CO	HEREAFTE RENEW TH ME" PER: THIS "I NTRACT I	HE IOD SHA REASONA FOR ANY	LL BLE	
	IN THIS	CONT SET	RACT	DOCUM	IONS ARE S ENT, THE FIRM FOR	ΓERMS,	CONDITI	ONS AND		
r	WRITTEN SUBMITT DAYS PR BE IN A	CONS ED TO LOR T CCORE L CON	ENT O THE O THE ANCE TRACT	F THE DIREC E EXPI WITH	MAY BE RI SPENDING TOR OF PUI RATION DA' THE TERMS SHALL BE	UNIT A RCHASIN TE, SU AND CO	ND VEND IG THIRT ICH RENE INDITION	OR, Y (30) WAL SHA S OF TH	LL E	
	RIGHT TO NOTICE SUPPLIE TO THE OPEN MARKET	TO CAN TO THE TO ARE SPECIARKET IZE A WITH	CLAUS	THIS CONDOR TO THE FOLLOWING CONTROL TO THE FOLLOWING CONTROL	CTOR OF PONTRACT IF THE COMERIOR QUADE OF THE BIRECTO INTERPONTH	MMEDIAT MODITIE LITY OF D AND (R OF PU RCHASE REQUIS	TELY UPOES AND/OR DO NOT CONTRACT URCHASIN ON THE SITION O	N WRITT R SERVI CONFOR HEREIN OPEN OR COST	EN CES	
				SEER	VERSE SIDE FOR T	ERMS AND CO	SMOITIONS		DATE	. ,
SIGNATURE 3	W Rom	۹.				TELEPHONE	523.74	91	DATE /	0/27/11

55.0384235 WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

Ť

DCBATT11A

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

ADDRESS CHANGES TO BE NOTED ABOVE

BUYER 42 304-558-8802

BY ORDER

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED

RFQ COPY TYPE NAME/ADDRESS HERE

STATE ELECTRIC SUPPLY CO.

2010 2nd Avenue Huntington, WV 25703 304-523-7491 Toll Free 1-800-624-3417 Customer Focused, Quality Driven

DATE PRINT	ED 1	TER	MS OF SAL	E	\$	HIP VIA		F.	O.B;		FREIGHT T	ERMS
09/27/	03910000000000000	2000/00/01/01/01/01			new ord state that was deleted to a	okokoko altalaria balarara (albeki si						
BID OPENING DATE:		10/27/	2011				BID (OPENING	TIME	01:3	OPM	5.050,000,000,000,000
LINE	AUA	YTITY	UOP	CAT. NO.	ITEI	M NUMBER		UNI	T PRICE		AMOL	INT
	CAUSES	(INCL	UDING	BUT	NOT LI	MITED	TO D	TO UNFOR ELAYS IN IN THE	TRANS-			
	APPROX THE ST THAT T ORDERE	IMATIO ATE SP HE CON D FOR	NS ON ENDIN TRACT DELIV	LY, B G UNI SHAL ERY D	ASED O T. IT L COVE URING	N ESTI IS UN R THE THE TE	MATE IDERS QUAN ERM O	EQUISITES SUPPLETOOD AND TITIES FOR THE COLUMN	IED BY D AGREEI ACTUALLY ONTRACT,	(
	WRITTE THE VE THE OR VENDOR MAILEI	N STATENDOR FRIGINAL R AS AU TO TH	E CON OR CO COPY THORI E PUR	TRACT MMODI OF T ZATIO	ORDER TIES C HE WV- N FOR	(FORMOVERE) 39 SHA SHIPMI	M NUM D BY ALL B ENT,	HALL ISBER WV- THIS CO E MAILE A SECON A THIR	39) TO NTRACT. D TO THE D COPY	E		
	FOR BA	NKRUPI	CY PR	VOII	TION, T	HE ST	ATE M	ONTRACT AY DEEM SUCH CO	THE	S		
	SHALL CONDIT DOCUMI AGREEI	SUPERS TIONS V ENTS SU MENTS (SEDE A WHICH JCH AS DR MAI	MAY AI MAY A S PRIO	ND ALL APPEAR CE LIST	SUBSE ON AN S, OR GREEME	QUENT Y ATT DER F	THIS CO TERMS TACHED P TORMS, S INCLUDI	AND RINTED ALES			
	REV.	05/26/2	2009									
	PURCH	ASING (CARD		TANCE:			OF WES	ST VIRGI	NI		
CICHATURE 6				SEER	EVEHOL SIDE		EPHONE	אוסו נוטאס	Tr.	DATE		

55.0384235 WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

T

REQ NUMBER

DCBATT11A

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 304-558-8802

VENDOR

RFQ COPY TYPE NAME/ADDRESS HERE

STATE ELECTRIC SUPPLY CO.

2010 2nd Avenue Huntington, WV 25703 304-523-7491 Toll Free 1-800-624-3417 Customer Focused, Quality Driven ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRINT	ED:	TERM	US OF SAL		SHIP VIA		F.O.B.	FREIGHT TERMS
09/27/					777	0.0.5	NINC TIME O	1:30PM
BID OPENING DATE:		10/27/7	2011	100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	BID	UPE	dette i e per kult i die boedsteid d	
LINE	QUA	NTITY	POU	CAT. NO.	ITEM NUMBER		UNIT PRICE	AMOUNT
					ISA PURCHASING C	ARD	PROGRAM WHIC	Н
	IS ISS	SUED TH	ROUGH	A BA	NK. THE SUCCESS OF WEST VIRGINIA			
	CARD F	OR PAY	MENT	OF AL	L ORDERS PLACED	BY	ANY STATE	
	AGENCY	/ AS A	CONDI	TION	OF AWARD.			
			VEND	OR PR	EFERENCE CERTIFI	CAT	Έ	
				11.4.0	DEEN DEDLACED BV	, ,,	IE ONI THE	
	VEBSI	IEAM EX IN WHIC	H IZ	AVATI	BEEN REPLACED BY ABLE HERE:	1	IL ONLINE	
	HTTP:	//WWW.S	TATE.	wv.us	/ADMIN/PURCHASE/	VRC	VENPREF.PDF	
				NOT	105			
				וטא	ICE			
	A SIGI	NED BID	MUST	BE S	UBMITTED TO:			
			LENT O	- ADM	THICTDATION			
		DEPARIM PURCHAS			INISTRATION			
		BUILDIN						
					TREET, EAST			
		CHARLES	TON,	WV 2	5305-0130	Ì		
						1		
	THE D	TD CHOL	D C(NITATE	THIS INFORMATION	UN I	ON THE FACE O	F
	THE B	NVEL UP	OR	HE B	ID MAY NOT BE COL	NSI	DERED:	
	SEALE	D BID						
			1			-		
	BUYER	:				FIL	E 42	
		NO.				DCP	ATT11A	_
	RFQ.	NU.:					505 A 160 07/78/8 B	2000 - 1000 - 1000 - 2000 - 2000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 -
				SEE R	EVERSE SIDE FOR TERMS AND C		DA	TE / . /,
SIGNATURE	in Be	eni.			304	.50	3.7491	10/27/11
TITLE L	DN MA	MACIED	FEIN .	85.0	384235			GES TO BE NOTED ABOVE
W	HEN RES	SPONDING	TO RF	Q, INSE	RT NAME AND ADDRESS	SIN	SPACE ABOVE LABI	FLED MENDOR



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

SHIP

REQ NUMBER

PAGE

DCBATT11A

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BUYE	R	42		
304-	55	8 -	880	2

RFQ COPY
TYPE NAME/ADDRESS HERE

STATE ELECTRIC SUPPLY CO.

2010 2nd Avenue Huntington, WV 25703 304-523-7491

Toll Free 1-800-624-3417 Customer Focused, Quality Driven ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRIN	ED	TER	MS OF SAL	E	SHIP V	IA	F.(O.B,	FREIGHT TERMS
09/27/									
BID OPENING DATE:		10/27/	2011			BID	OPENING	TIME	01:30PM
LINE	QUAI	YTITY	UOP	CAT. NO.	ITEM NUM	IBER	UNI	TPRICE	AMOUNT
		ENING					0/27/201 :30 P.M		
	TO COM	ITACT Y	OU RE	GARDI	ľ	1D: <u>304</u> _	522.9	9624	
	CONTAC	CT PERS	ON (P	LEASE	PRINT CL	EARLY):	Haya	14 <u>4</u> _	
	****	¥ THI	3 15 1	HE EN	D OF RFQ	DCBAT	 	*** TOT <i>l</i>	AL:
el .									
				SFER	EVERSE SIDE FOR	TERMS AND C	ONDITIONS		
SIGNATURE	2 Y 10	^		OLE N	LILIOL SIDE I ON	TELEPHONE	~~-	, jo	DATE (A/am/L)
10	Day 130	2				304	. 523.74	19/	10/27/11
TITLE //	1844 / SC FEIN 66, 038/1						A	DDRESS CHAI	NGES TO BE NOTED ABOVE

Dry Cell Batteries – Specifications

DCBatt11A

I. PURPOSE AND SCOPE:

The West Virginia Purchasing Division is soliciting bids in the form of this RFQ to establish a state-wide contract for small disposable and rechargeable batteries commonly used in households and small mechanical devices (excluding automobile, heavy equipment, and other large batteries). The Contract resulting from this RFQ shall be awarded to the lowest responsible bidder and shall cover Eligible Items from Vendor's Catalogue. This Contract may be utilized by West Virginia State agencies and all political subdivisions of the State in all 55 counties.

II. DEFINITIONS:

The terms listed below shall have the meanings assigned to them as follows:

- 1. "Agency" or "Agencies" means West Virginia Purchasing Division or any public entity seeking to procure Eligible Items under this Contract.
- 2. "Catalogue" means the price list or sales catalogue that includes all items that Vendor can and will sell under this Contract.
- 3. "Contract" means the binding agreement that is entered into between the State and the Vendor to provide the Eligible Items as specified herein.
- 4. "Discounted Unit Price" means the unit price of an Eligible Item purchased under this Contract. The Discounted Unit Price is calculated by reducing the submitted Catalogue unit price for an Eligible Item by the discount percentage quoted by Vendor on the Pricing Page.
- 5. "Eligible Item" or "Eligible Items" means any or all small disposable and rechargeable batteries commonly used in households and small mechanical devices (excluding automobile, heavy equipment, and other large batteries) included in Vendor's Catalogue submitted by Vendor as required herein.
- 6. "Pricing Page" means the schedule of catalogue unit prices, discount percentage, estimated purchase volume, Discounted Unit Prices, totals, and other information attached hereto as Exhibit A and used to evaluate the Vendors' responses to this RFQ.
- 7. "Purchasing Division" means the West Virginia Department of Administration, Purchasing Division.
- 8. "RFQ" means the official RFQ published by the Purchasing Division and identified as DCBATT11A.

Dry Cell Batteries – Specifications

DCBatt11A

- 9. "State" means the State of West Virginia and/or any of its agencies, commissions, boards, etc.
- 10. "Vendor" or "Vendors" means the successful bidder.

III. GENERAL REQUIREMENTS

- 1. Mandatory Eligible Item Requirements: Eligible Items must meet or exceed the mandatory requirements listed below.
 - a. Eligible Items must be new and unused upon delivery to the Agency.
 - b. Eligible Items must be Rayovac brand or EQUAL.

IV. CONTRACT AWARD, PERCENTAGE DISCOUNT, CATALOGUE

- Contract Award: This Contract is intended to provide Agencies with a single discount percentage on the purchase of all Eligible Items, including those items specifically listed on the Pricing Page. The Contract shall be awarded to the Vendor that provides the lowest total cost for the items listed on the Pricing Page.
- 2. Percentage Discount: Vendor shall quote a single percentage discount that will reduce the lowest price shown in the Catalogue for every Eligible Item. The resulting Discounted Unit Price shall be the price Agencies pay for purchases of Eligible Items under this Contract.
 - The percentage discount and subsequent Discounted Unit Price derived from that discount must take into account any and all fees, charges, or other miscellaneous costs that Vendor may require, including delivery charges as indicated below, because those fees, charges, or other miscellaneous costs will not be paid separately. The Agency shall only pay the appropriate Discounted Unit Price for items purchased under this Contract.
- 3. Pricing Pages: Vendor should complete the Pricing Pages by inserting Manufacture's Part Numbers, Vendor's Part Numbers, Catalogue unit prices, Discounted Unit Prices, totals, the minimum order quantity (if any), the single discount percentage applied to all Eligible Items, and all other information requested thereon. Vendor should fully complete the Pricing Page in its entirety as failure to do so may result in disqualification of Vendor's bid.

Dry Cell Batteries – Specifications DCBatt11A

As indicated in the definition of Discounted Unit Price above, the single discount percentage quoted on the Pricing Page must be applied to the Catalogue unit price to arrive at the Discounted Unit Price.

Example: If Vendor lists a discount percentage of 10% and submits a catalogue unit price of \$10 for the first item then the Discounted Unit Price of that item on the Pricing Page must be \$9 (\$10 reduced by 10%) and the total item cost of that item must be \$31,500 (\$9 multiplied by estimated purchase volume of 3,500).

The Pricing Pages contain a list of frequently purchased items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied. The estimated purchase volume is listed on an individual rather than packaged basis. Accordingly, all Catalogue unit prices listed on the Pricing Page must reflect the price of an individual battery. Modification of the estimated purchase volume by Vendor is prohibited and may result in bid disqualification.

Example: Item #6 AL-D Alkaline D batteries estimated purchase volume is 30,000 individual batteries. If Vendor's Catalogue shows the price of item #6 in units of 10, then Vendor must divide its Catalogue price by 10 to arrive at the Catalogue unit price requested on the Pricing Page.

Notwithstanding the foregoing, the Purchasing Division may correct errors as described herein. Vendor should type or electronically enter the information into the Pricing Pages to prevent errors in the evaluation. The Pricing Pages were created as a Microsoft Excel document and Vendor can access these on the Purchasing Division website for the Purchasing Bulletin.

Dry Cell Batteries - Specifications

DCBatt11A

4. Catalogue: Vendor must submit its Catalogue prior to award of this Contract for evaluation purposes. Vendor shall also mail the Catalogue free of charge to any Agency desiring to use this contract. Copies of the Catalogue may be requested in an electronic format and should be provided in that format if possible. Vendor's Catalogue will be used by Agencies to order Eligible Items under this Contract.

Vendor should identify all items listed on the Pricing Pages by circling or highlighting those items in its Catalogue and earmarking or tabbing the pages for those items, to assist in the evaluation and verification of the bids and pricing. If any discrepancies exist between the Pricing Pages and the actual price listed in the Catalogue, the actual price shall prevail and the Pricing Pages may be corrected by the Purchasing Division buyer for evaluation purposes.

The Catalogue may be updated at Contract renewal, but any price increase or renewal must be approved by the Purchasing Division at its sole discretion. Unless an updated catalogue is approved, the Eligible Items available under this Contract and prices for those items shall remain unchanged during the term of this Contract.

V. ORDERING AND PAYMENT

- 1. Ordering: Vendor shall accept orders by regular mail, facsimile, e-mail, or any other written forms of communication. Vendor may, but is not required to, accept on-line orders through a secure internet ordering portal/website. If Vendor has the ability to accept on-line orders, it should include in its response a brief description of how Agencies may utilize the on-line ordering system. Any on-line ordering system must have the capability to restrict prices and available items to conform to the Catalogue originally submitted with this RFQ. Vendor shall ensure that its on-line ordering system is properly secured prior to processing Agency orders on-line.
- 2. Payment: Vendor shall accept payment in accordance with the payment procedures of the State of West Virginia. Methods of acceptable payment must include the West Virginia Purchasing Card. Payment in advance is not permitted under this Contract.

Dry Cell Batteries – Specifications

DCBatt11A

VI. DELIVERY AND RETURN

- Delivery Time: Vendor shall deliver standard orders within three (3) working days after orders are received. Vendor shall deliver emergency orders within one (1) working day after orders are received. All deliveries must be made during normal working hours to the delivery location. All shipments of products requiring a Material Safety Data Sheet (MSDS) shall include it with product shipment.
- 2. Late Delivery: The Agency placing the order under this Contract must be notified in writing if orders will be delayed for any reason. Any delay in delivery that could cause harm to an Agency will be grounds for:
 - (a) cancellation of the delayed order, and
 - (b) obtaining the items ordered from a third party.

Any Agency seeking to obtain items from a third party under this provision must first obtain approval of the Purchasing Division.

- 3. Delivery Payment/Risk of Loss: For all orders totaling \$50 or more, delivery shall be F.O.B. destination to the Agency's location. Vendor shall include the cost of standard order delivery charges in its bid pricing/discount and is not permitted to charge the Agency separately for such delivery. For all orders totaling less than \$50, and for all emergency orders approved in advance by the Agency, the Vendor will still bear the risk of loss in delivery, but Agency will reimburse Vendor for the delivery charges provided that Vendor invoices those delivery charges separately with the original freight bill attached to the invoice.
- 4. Return of Unacceptable Items: Items that Agency deems unacceptable shall be returned to Vendor at Vendor's expense and with no restocking charge. Vendor shall either make arrangements for the return within five (5) days of being notified that items are unacceptable, or permit the Agency to arrange for the return and reimburse Agency for delivery expenses. If the original packaging cannot be utilized for the return, Vendor will supply the Agency with appropriate return packaging upon request. All returns of unacceptable items shall be F.O.B. the Agency's location. The returned product shall either be replaced, or the Agency shall receive a full credit or refund for the purchase price, at the Agency's discretion.
- 5. Return Due to Agency Error: Items ordered in error by the Agency will be returned for credit within 30 days of receipt, F.O.B. Vendor's location. Vendor shall not charge a restocking fee if returned products are in a resalable condition. Items shall be deemed to

Dry Cell Batteries - Specifications

DCBatt11A

be in a resalable condition if they are unused and in the original packaging. Any restocking fee for items not in a resalable condition shall be the lower of the Vendor's customary restocking fee or 5% of the total invoiced value of the returned items.

VII. MISCELLANIOUS

- 1. No Substitutions: Vendor shall supply only Eligible Items contained in its Catalogue submitted in response to the RFQ or an updated Catalogue approved by the Purchasing Division as described above. Vendor shall not supply substitute items.
- 2. Vendor Supply: Vendor must carry sufficient inventory of the Eligible Items being offered to fulfill its obligations under this Contract. By signing its bid, Vendor certifies that it can supply the Eligible Items contained in its bid response.
- 3. Reports: Vendor shall provide quarterly reports and annual summaries to the Agency showing the Agency's items purchased, quantities of items purchased, and total dollar value of the items purchased. Vendor shall also provide reports, upon request, showing the items purchased during the term of this Contract, the quantity purchased for each of those items, and the total value of purchases for each of those items. Failure to supply such reports may be grounds for cancellation of this Contract.
- 4. Contract Manager: During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

Contract Manager: MARK / TOLLOWAY
Telephone Number: 304.513.749/
Fax Number: 304.512.9414
Email Address: MARK - HOLLOWAY @ STATEFUECTURE, COM

- 5. Mandatory Requirements: The terms "must," "will," "shall," "minimum," "maximum," or "is/are required" identify a mandatory contract requirement. Decisions regarding compliance with any mandatory requirements shall be at the sole discretion of the Purchasing Division. Failure on the part of the Vendor to meet any of the mandatory specifications shall result in disqualification of the bid.
- 6. Waiver: The failure of either party to insist upon a strict performance of any of the terms or provision of this Contract, or to exercise any option, right, or remedy herein

Dry Cell Batteries – Specifications

DCBatt11A

contained, shall not be construed as a waiver or a relinquishment for the future of such term, provision, option, right, or remedy, but the same shall continue in remain in full force and effect. Any waiver must be expressly stated in writing and signed by the waiving party.

	Page 5	Page 1	Page 1	Pagel	Pagel	Pagel	Page 1	Pagel	Pagel	Page 3	Page3	Page 3	Page4	Page 4	15853.50 Page 2
Total Item Cost	12831.00	28600.00	113230.00	72930.00	26522.60	44850.00	267.80	643.50	3057.60	1757.60	896.35	3082.95	1456.00	2792.40	15853.50
Estimated Purchase Volume (See Note 2 below)	3,500	11,000	130,000	82,500	20,200	30,000	200	1,500	800	400	350	450	200	009	2,250
Discounted Unit Price (see Note 1 below)	3.67	2.60	0.87	0.88	1.31	1.50	1.34	0.43	3.82	4.39	2.56	6.85	7.28	4.65	7.05
Catalogue Unit Price	\$5.64	\$4.00	\$1.34	\$1.36	\$2.02	52.30	\$2.06	50.66	\$5.88	\$6.76	53.94	\$10.54	\$11.20	\$7.16	\$10.84
Vendor Part#	RAYGV-HD	RAYAL-9V	RAYAL-AA	RAYAL-AAA	RAYAL-C	RAYAL-D	RAYHD-9V	RAYHD-AA	RAYHD-DA	RAYINZ	RAYIV2D	RAYIN2-KML	RAYKFL	RAYTVBFLGV-B	RAYRL123A-1
Description of Product	6V-HD Industrial Heavy Duty 6 volt, spring terminals	AL-9V Alkaline 9 volt	AL-AA Alkaline AA	AL-AAA Alkaline AAA	AL-C Alkaline C	AL-D Alkaline D	HD-9V Heavy Duty 9 volt	HD-AA Heavy Duty AA	HD-DA Heavy Duty D	IN2 Industrial 2D Size with PR2 bulb and ring hanger	N2D Yellow 2 D size Utility Flashlight	IV2DM Yellow 2 D size Utility Flashlight with magnet	KFL Krypton Lantern with stand	EVBFL6V-B Floating Lantem and general purpose 6-volt Lantem battery in sleeve	RL123A-1 Photo battery
Equal to or Exceed	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand	Rayovac Brand
Manufacture Part #	GV.HD	AL:9V	AL-AA	AL-AAA	AL-C	AL-D	VQ-GH	HD-AA	HD-DA	IN2	IV2D	INS-KWI	KFL	E-AB180A3	R1123A-1
Item #	-	2	3	4	5	9	4	8	6	10	11	12	13	41	15

Discount Percentage (Applied to items above and Catalogue items)

35 %

328771.30

TOTAL COST:

Note 1: Discounted unit prices must reflect the discount percentage listed in the above box as explained in the RFQ specifications.

Note 2: Estimated purchase volume is shown on an individual battery basis (rather than a packaged basis) for evaluation purposes and should not be modified.

Vendor's Authorized Signature:

Date: 10/45/1



						F	rice On :
Customer SKU	UPC	Stock Number	Description	Case Qty	UOM	LIST Unit	Case
INDUOTEDIAL MA	Wild in DDO DAOK						
INDUSTRIAL MA	AXIMUM PRO PACK	ALD 40E	ALK D CONTRACTOR D	٥	I	00.4	044
	12800474127 12800474110	ALD-12F ALC-12F	ALK D CONTRACTOR P ALK C CONTRACTOR PA	8 8		26.4	211.2 186.2
	12800507832	AL9V-12F	ALK 9V CONTRACTOR PA	12		23.28 45.6	547.
	12800474080	AL9V-8F	ALK 9V CONTRACTOR P	12		30.4	364.
	12800503889	ALAA-48F	ALK AA CONTRACTOR P	8		57.6	460.
	12800474097	ALAA-24F	ALK AA CONTRACTOR P	12		28.8	345.
	12800474103	ALAAA-18F	ALK AAA CONTRACTOR	12		23.04	276.4
	12800507986	ALAAA-24F	ALK AAA CONTRACTOR	12		28.8	345.
INDUSTRIAL MA	XXIMUM SHRINK WRAP						
RAYAL-D	12800000425	AL-D	ALK D INDUSTRIAL 6P	72	BTY	2.3	165.6
RAYAL-C	12800000418	AL-C	ALK C INDUSTRIAL 6P	72	BTY	2.02	145.44
	12800000449	AL-9VA	ALK 9V INDUSTRIAL 6	12		24	288
RAYAL-9V	12800000449	AL-9V	ALK 9V INDUSTRIAL 6	72	BTY	4	288
RAYAL-AA	12800000432	AL-AA	ALK AA INDUSTRIAL 8	96	BTY	1.34	128.64
RAYAL-AAA	12800000456	AL-AAA	ALK AAA INDUSTRIAL	96	BTY	1.36	130.56
CHARGERS CLA							
	12800513147	PS20PL GEN	PLATINUM UNIVERSAL	3		37.4	112.:
	12800513277	PS19-2B	USB OPP CHARGER W/2	6		14.56	87.3
	12800513536	PS33-4B	PLATINUM CHARGER W/	4		21.16	84.6
	12800509645 12800513253	PS131E GEN PS131-4BE	4-POSITION NIMH CHA 4-POS OPP NIMH CHAR	4 4		12.36 15.5	49.4 6
NIMH BATTERIE	S CARDS						
MINIT DATTERNE	12800513161	PL713-2 GEN	PLATINUM RECHRG LSD	6		17.7	106.2
	12800513178	PL714-2 GEN	PLATINUM RECHRG LSD	6		17.7	106.2
	12800513208	PL1604-1 GEN	PLATINUM RECHRG LSD	6		17.7	106.
	12800513185	PL715-4	PLATINUM RECHARGEAB	6		17.7	106.3
	12800513192	PL724-4	PLATINUM RECHARGEAB	6		17.7	106.2
NIMH HYBRID C	ARDS						
	12800512515	LD715-40P	RAYOVAC OPP PRECHAR	6		14.1	84.6
	12800512539	LD724-40P	RAYOVAC OPP PRECHAR	6		14.1	84.6
NIMH HYBRID N	IULTI-CARDS						
	12800512522	LD715-80P	RAYOVAC OPP PRECHAR	6		23.3	139.8
RAYOVAC HEAV	Y DUTY BULK OTHER						
	12800379606	6D BULK	HVY DTY D BULK	145		1.02	147.9
	12800379866	5AA BULK	HVY DTY AA BULK	1,000		0.78	780
RAYOVAC HEAV	/Y DUTY CARDS	0000	LIEALOV DLITV AAA OADD	٥.		2 20	00.5
	12800458714	3AAA-4	HEAVY DUTY AAA CARD	24		4.14	99.36
RAYOVAC HEAV	YY DUTY MULTI-CARDS						
	12800507337	3AAA-8CTA	HEAVY DUTY AAA CARD	30		7.7	23
INDUSTRIAL HV	Y DUTY SHRINK WRAP						
	12800000470	HD-DA	HVY DTY D INDUSTRIA	12		5.88	70.56
	12800000463	HD-C	HVY DTY C INDUSTRIA		BTY	0.9	64.8
	12800000494	HD-9V	HVY DTY 9V INDUSTRI	72		2.06	148.32
	12800000487	HD-AA	HVY DTY AA INDUSTRI	96	BTY	0.66	63.36



					Р	rice On :
Customer SKU	UPC	Stock Number	Description	Case Qty UOM	LIST Unit	Case
LOUD 'N CLEAR -	STD. 16 PACK					
	12800511761	L10ZA-16ZM	10 LOUD N CLR ZA 16	5	30.88	154.4
	12800511778	L13ZA-16ZM	13 LOUD N CLR ZA 16	5	26.88	134.4
	12800511785	L312ZA-16ZM	312 LOUD N CLR ZA 1	5	26.88	134.4
LOUD 'N CLEAR -	STD. 24 PACK					
	12800512003	L10ZA-24ZM	10 LOUD N CLR ZA 24	4	41.42	165.68
	12800512010	L13ZA-24ZM	13 LOUD N CLR ZA 24	4	36.66	146.64
	12800512027	L312ZA-24ZM	312 LOUD N CLR ZA 2	4	36.66	146.64
LOUD 'N CLEAR -	STD 8 DACK					
LOOD NOLLAN	12800511730	L10ZA-8ZM	10 LOUD N CLR ZA 8P	5	17.76	88.8
	12800511747	L13ZA-8ZM	13 LOUD N CLR ZA 8P	5	15.68	78.4
	12800511754	L312ZA-8ZM	152 LOUD N CLR ZA 8	5	15.68	78.4
	12800517072	L675ZA-8ZM	675 LOUD N CLR ZA 8	5	15.7	78.5
KEVI FOO OADDO						
KEYLESS CARDS	12800462841	KECR2025-1	LITH KEYLESS ENTRY	6	2.24	13.44
RAYKECR2032-1	12800462773	KECR2025-1 KECR2032-1	LITH KEYLESS ENTRY	6	2.24	13.44
NATINEONZUSZ-T	12800462779	KE23A-1	ALK KEYLESS ENTRY C	6	2.24	13.44
	12800462742	KECR2016-1	LITH KEYLESS ENTRY	6	2.24	13.44
	12800462742	KECR1616-1	LITH KEYLESS ENTRY	6	2.24	13.44
	12800509133	KECR1620-1	LITH KEYLESS ENTRY	6	2.24	13.44
	12800414000	303/357-1	SILVER WATCH/CALC C	6	1.84	11.04
	Description and the production	100000000000000000000000000000000000000		6	1.24	7.44
	12800414598	376/377-1W	SILVER WATCH/CALC C	6	2.24	
	12800509140 12800462339	KECR1632-1 RL123A-1	LITH KEYLESS ENTRY PHOTO	6	10.84	13.44 65.04
v v						
LITHIUM CARDS	12800513567	UP9VL-1	RAYOVAC ULTRA PRO 9	12	10.44	125.28
	50000 00000 00000 0000					
LITHIUM PRO PAC	12800513574	UP9VL-8	RAYOVAC ULTRA PRO 9	6	83.6	501.6
			101100110 02110111100	· ·	33.3	001.0
RAYOVAC GENER	RAL PURPOSE MULTI		O-OAA OD OEN DUDD		12.20	F2 04
	12800501915	GPR2AA2AA2D-B	2x2AA, 2D GEN PURP	4	13.26	53.04
RAYOVAC GENER	AL PURPOSE SINGL	E W/ BATTS			**	
	12800506347	BRSLED3AAA-B	BRITE SOLUTIONS 3AA	4	9.28	37.12
	12800501243	2AA-B RB	2AA FLASHLIGHT/BTY	4	7.7	30.8
	12800501250	2D-B RB	2D-B RB, 2D FLASHLI	4	10.06	40.24
	12800501267	KEY-B RB	1AAA KEYCHAIN LIGHT	6	6.18	37.08
BRILLIANT SOLUT	TIONS MULTI W/ BAT	TS				
	12800507122	BRSLED3AAA-B2	BRILLIANT SOLUTIONS	4	17.06	68.24
	12800513260	BRSLED3PK-BTP	BRILLIANT SOLN LED	4	15.28	61.12
BRILLIANT SOLUT	TIONS SINGLE W/O B	ATTS				
	12800512430	BRSSOLCR	BRILLIANT SOLUTIONS	4	12.68	50.72
DDILLIANT COLUM	TIONS SINCE E WEST	TTO				
DRILLIANT SULU	FIONS SINGLE W/ BA 12800512324	BRSIN3AAA-B	BRILLIANT SOLN 3AAA	4	7.74	30.96
	12800508129	BRSMINI-BA	BRILLIANT SOLN 3AAA	4	7.74	28.16
	12000000128	DI/OMIMI-DA	DIVILLIANT GOLIN SAVA	7	7.04	20.10



12800514069 BRS14LED-B BRS 14 LED GLOW IN 4 8.44 33.5 12800512317 BRS2AB-BSS BRILLIANT SOLI 2AA 4 11.28 44 12						Р	rice On :
12800514069	Customer SKU			Description			Case
12800512317 BRS2AA-BSS BRILLIANT SOLD 2AA 4 11.28 41 12800511903 BRSGELEZAA-B BRILLIANT SOLD 2AA 6 3.5 12800512270 BRSELED2A-B BRILLIANT SOLD 2AA 6 3.5 128005012294 BRSELED2A-B BRILLIANT SOLD 2AA 6 3.5 12800509105 BRSGELEZAA-B BRILLIANT SOLD 2AA 6 3.6 3.5 12800509485 BRSIEDEVEY-BR BRILLIANT SOLD AAAA 6 9.84 5.5 12800509607 BRSIEDEVEY-BR BRILLIANT SOLD AAAA 6 9.84 5.5 12800509607 BRSIEDEVEY-BR BRILLIANT SOLD AAAA 6 9.84 5.5 12800509607 BRSIEDEVEY-BR BRILLIANT SOLD RECT 2 4.96 5.5 12800509607 BRSIEDEVEY-BR BRILLIANT SOLD RECT 2 4.96 5.5 12800509613 BRSIEDEVEY-BR BRILLIANT SOLD RECT 2 4.96 5.5 128005096112 BRSGEL6AA-B BRILLIANT SOLD REAA 4 12.68 5.6 12.6 1							
12800511693 BRSGELDAA-B BRILLIANT SOLD 2AA 4 10.34 41 12800512270 BRSELED2A-B BRILLIANT SOLD 2AA 6 3.5 12800512294 BRSELED2A-B BRILLIANT SOLD 2AA 6 3.5 12800509145 BRSELED2A-B BRILLIANT SOLD 2D 6 5.62 33 41 41 42 46 65 41 42 46 65 41 42 46 65 41 42 46 46 42 42 46 42 42				BRS 14 LED GLOW IN	4	8.44	33.76
12800512270 BRSELEDZAA-B BRILLIANT SOLN ZAA 6 5.62 33 12800512294 BRSELEDZAA-B BRILLIANT SOLN ZOL 6 5.62 33 12800509155 BRSGELEZAAA-B BRILLIANT SOLN ZOL 6 5.62 33 12800509165 BRSGELEZAAA-B BRILLIANT SOLN RECT 12 4.66 5.62 12800509045 BRSLEDKEY-BR BRILLIANT SOLN RECT 12 4.66 5.62 12800509045 BRSLEDKEY-BR BRILLIANT SOLN RECT 12 4.66 5.62 12800509112 BRSLEDKEY-BMF BRILLIANT SOLN LED 12 7.04 84 128005090112 BRSLEDKEY-BMF BRILLIANT SOLN LED 12 7.04 84 128004508112 BRSGEL6AA-B BRILLIANT SOLN 6AA 4 12.68 5.02		12800512317	BRS2AA-BSS	BRILLIANT SOLN 2AA	4	11.28	45.13
12800512294 BRSELEDZN-B BRILLIANT SOLN 2AAA 6 9.84 55		12800511693	BRSGELI2AA-B	BRILLIANT SOLN 2AA	4	10.34	41.3
12800508105 BRSGELAAAA-B BRILLIANT SOLN AAAA 6 9.84 55		12800512270	BRSELED2AA-B	BRILLIANT SOLN 2AA	6	3.5	2
12800509485 BRSLEDKEY-BM BRILLIANT SOLN RECT 12		12800512294	BRSELED2D-B	BRILLIANT SOLN 2D L	6	5.62	33.7
12800509607 BRSLEDKEY-BMF BRILLIANT SOLN LED 12 7.04 84 12600508112 BRSLEDEN-B BRILLIANT SOLUTIONS 12 6.18 72 12800508112 BRSGEL6AA-B BRILLIANT SOLUTIONS 12 6.18 72 12800480593 12D BULK 2D INDUSTRIAL LIGHT 24 6.54 156 15		12800508105	BRSGEL4AAA-B	BRILLIANT SOLN 4AAA	6	9.84	59.0
12800508613 BRSLEDPEN-B BRILLIANT SOLUTIONS 12 6.18 74		12800509485	BRSLEDKEY-BR	BRILLIANT SOLN RECT	12	4.66	55.9
12600508112 BRSGEL6AA-B BRILLIANT SOLN 6AA 4 12.68 50		12800509607	BRSLEDKEY-BMF	BRILLIANT SOLN LED	12	7.04	84.4
12600508112 BRSGEL6AA-B BRILLIANT SOLN 6AA 4 12.68 50		12800506613	BRSLEDPEN-B	BRILLIANT SOLUTIONS	12	6.18	74.1
12800480593 12D BULK 2D INDUSTRIAL LIGHT 24 6.54 156		12800508112	BRSGEL6AA-B			12.68	50.7
12800512287 ILED2AA INDUSTRIAL 2AA LED 6 2.96 17	INDUSTRIAL LT	S - STD BULK OTHER					
12800512287 ILED2AA INDUSTRIAL 2AA LED 6 2.96 17		12800480593	12D BULK	2D INDUSTRIAL LIGHT	24	6.54	156.9
12800512287 ILED2AA INDUSTRIAL 2AA LED 6 2.96 17	INDUSTRIAL LT	S - STD SINGLE W/O BATTS					
RAYIN4 12800452088 IN4 2AA INDUSTRIAL 6 6.36 38 38 128004512300 ILED2D INDUSTRIAL 2D LED E 6 4.52 27 RAYIN2 12800451845 IN2 2D INDUSTRIAL 6 6.76 44 6.67.6 44 6.76 44			ILED2AA	INDUSTRIAL 2AA I FD	6	2.96	17.7
12800512300	RAYIN4						38.1
RAYIN2 12800451845 IN2 2D INDUSTRIAL 6 6.76 44 RAYIN2-K 12800451862 IN2-K 2D INDUSTRIAL KRYPT 6 7.62 45 12800451863 IN2-KML 2D INDL KRYPTON MAG 6 10.54 63 RAYIN2-MS 12800451906 IN2-MS 2D INDUSTRIAL MRYPT 24 6.98 167 RAYIN3 12800451913 IN3 3D INDUSTRIAL MPR 24 6.98 167 RAYIN3 12800451913 IN3 3D INDUSTRIAL MPR 24 6.98 167 RAYIN3 12800451913 IN3 3D INDUSTRIAL MPR 24 6.98 167 RAYIN3 12800452071 12AA-B 2AA INDUSTRIAL BTRY 6 7.9 4 12800452071 12AA-B 2D INDUSTRIAL BTRY 6 7.9 4 12800452071 12AA-B 2D INDUSTRIAL BTRY 6 12.68 76 12800451234 I2D-B 2D INDUSTRIAL BTRY 6 10.16 60 INDSTRILLTS - SWIVEL SINGLE W/ BATTS RAYILJ2AA-B 12800465804 ILJ2AA-B 2D INDUSTRIAL BTRY 6 11.18 67 12800465855 ISL2D-B 2D INDUSTRIAL BTRY 6 14.36 86 LANTERNS SINGLE W/ BATTS 12800465781 I6V-B2 6V INDL LTRN/BTRY 2 15.84 31 IND LTS - ECONOMY SINGLE W/O BATTS 12800462337 IV2D 2D FLASHLIGHT 12 3.94 47 ROUGHNECK SINGLE W/ BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/ BATTS 12800451286 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512248 RNHL3AAA-B ROUGHNECK SAAA TACT 4 37.54 150 12800512286 RNT3AAA-B ROUGHNECK SAAA TACT 4 37.54 150 12800512288 RNHL3AAA-B ROUGHNECK SAAA TACT 4 37.54 150 12800512188 RNF4AA-B ROUGHNECK SAAA TACT 4 37.54 150 12800512188 RNF4AA-B ROUGHNECK CD UN LED 4 16.8 6 12800512249 RNC3AA-B ROUGHNECK SAA LED C 4 42.32 168							27.1
RAYIN2-K 12800451882 IN2-K 2D INDUSTRIAL KRYPT 6 7.62 45 12800451883 IN2-KML 2D INDUSTRIAL KRYPTON MAG 6 10.54 63 RAYIN2-MS 12800451906 IN2-MS 2D INDUSTRIAL 6 9.04 56 12800437030 IMIN2 2D INDUSTRIAL IMPR 24 6.98 167 RAYIN3 12800451913 IN3 3D INDUSTRIAL IMPR 24 6.98 167 RAYIN3 12800451913 IN3 3D INDUSTRIAL BIRPY 6 8.98 53 INDUSTRIAL LTS - STD SINGLE W BATTS 12800452071 I2AA-B 2D INDUSTRIAL BIRPY 6 7.9 4 12800508303 I2DLED-B 2D INDUSTRIAL LED F 6 12.68 76 12800451234 I2D-B 2D INDUSTRIAL LED F 6 10.16 60 INDSTRL LTS - SWIVEL SINGLE W BATTS RAYILJ2AA-B 12800465835 ISL2D-B 2D INDL SWIVEL W/B 6 11.18 67 12800465835 ISL2D-B 2D INDL SWIVEL W/B 6 11.18 67 12800465781 I6V-B2 6V INDL LTRN/BTRY 2 15.84 31 IND LTS - ECONOMY SINGLE W/O BATTS 12800465781 I6V-B2 D PLASHLIGHT 12 3.94 47 ROUGHNECK SINGLE W/O BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/O BATTS 12800451256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800485727 R2AA-BA 2AA ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2A-BA 2AA ROUGHNECK AAA ACT 4 37.54 150 12800512258 RNT3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800512256 RNT3AAA-B ROUGHNECK 3AAA LED 4 19.38 77 12800512195 RNDD-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 3AA LED C 4 42.32 168	RAYIN2						40.5
12800451883 IN2-KML 2D INDL KRYPTON MAG 6 10.54 63 63 63 63 63 63 63 6							45.7
RAYIN2-MS 12800451906 IN2-MS 2D INDUSTRIAL 6 9.04 64 12800437030 IMIN2 2D INDUSTRIAL IMPR 24 6.98 167 RAYIN3 12800451913 IN3 3D INDUSTRIAL IMPR 24 6.98 167 RAYIN3 12800451913 IN3 3D INDUSTRIAL IMPR 24 6.98 65 INDUSTRIAL LTS - STD SINGLE W/BATTS 12800452071 I2AA-B 2AA INDUSTRIAL BTRY 6 7.9 4 12800508303 I2DLED-B 2D INDUSTRIAL LED F 6 12.68 76 12800451234 I2D-B 2D INDUSTRIAL LED F 6 10.16 60 INDSTRI LTS - SWIVEL SINGLE W/BATTS RAYILJ2AA-B 12800465804 ILJ2AA-B 2AA INDL SWIVEL W/B 6 11.18 67 12800465835 ISL2D-B 2D INDL SWIVEL/BTRY 6 14.36 86 LANTERNS SINGLE W/BATTS 12800465781 I6V-B2 6V INDL LTRN/BTRY 2 15.84 31 IND LTS - ECONOMY SINGLE W/O BATTS 12800462337 IV2D 2D FLASHLIGHT 12 3.94 47 ROUGHNECK SINGLE W/O BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/BATTS 12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 156 12800512256 RNT3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK 3AAA LED 4 25.86 103 12800512188 RNHL3AAA-B ROUGHNECK XAAA TACT 4 19.38 77 12800512188 RNHL3AAA-B ROUGHNECK XAAA TACT 4 19.38 77 12800512188 RNF4AA-B ROUGHNECK XAAA TACT 4 19.38 77 12800512188 RNF4AA-B ROUGHNECK AAAA COUS 4 19.38 77 12800512188 RNF4AA-B ROUGHNECK AAAA FOCUS 4 19.38 77 12800512189 RN2DIW-B ROUGHNECK AD FOCUS 4 19.38 77 12800512189 RN2DIW-B ROUGHNECK AD FOCUS 4 19.38 77 12800512201 RNR2D-B ROUGHNECK AD FOCUS 4 19.38 77 12800512201 RNR2D-B ROUGHNECK AD FOUS 4 19.38 77 12800512201 RNR2D-B ROUGHNECK AD FOUS 4 14.32 86 12800512249 RNC3AA-B ROUGHNECK AD FOUS 4 14.32 168	VIIIIZ IX						63.2
12800437030 MIN2 2D INDUSTRIAL IMPR 24 6.98 167	DAVINO MC						
RAYIN3 12800451913 IN3 3D INDUSTRIAL 6 8.98 53 INDUSTRIAL LTS - STD SINGLE W/ BATTS 12800452071 I2AA-B 2AA INDUSTRIAL BTRY 6 7.9 4 128005083003 I2DLED-B 2D INDUSTRIAL LED F 6 12.68 76 12800451234 I2D-B 2D INDUSTRIAL BTRY 6 10.16 66 INDSTRL LTS - SWIVEL SINGLE W/ BATTS RAYILJ2AA-B 12800465804 ILJ2AA-B 2AA INDL SWIVEL W/B 6 11.18 67 12800465835 ISL2D-B 2D INDL SWIVEL BTRY 6 14.36 86 LANTERNS SINGLE W/ BATTS 12800465781 I6V-B2 6V INDL LTRN/BTRY 2 15.84 31 IND LTS - ECONOMY SINGLE W/O BATTS 12800482337 IV2D 2D FLASHLIGHT 12 3.94 47 ROUGHNECK SINGLE W/O BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/BATTS 12800512266 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 156 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800512188 RNH-JAAA-B ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK AAA FOCUS 4 19.38 77 12800512188 RNF4AA-B ROUGHNECK AAA FOCUS 4 19.38 77 12800512188 RNF4AA-B ROUGHNECK AAA FOCUS 4 19.38 77 12800512188 RNF4AA-B ROUGHNECK CAAA FOCUS 4 19.38 77 12800512188 RNF4AA-B ROUGHNECK AAA FOCUS 4 19.38 77 12800512188 RNF4AA-B ROUGHNECK CAAA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK CAAA FOCUS 4 16.8 6 12800512201 RNR2D-B ROUGHNECK CAAA FOCUS 4 16.8 6 12800512201 RNR2D-B ROUGHNECK CAAA FOCUS 6 14.32 88 12800512209 RNC3AA-B ROUGHNECK CAAA FOCUS 6 14.32 88 12800512209 RNC3AA-B ROUGHNECK CAAA FOCUS 6 14.32 186	INATINZ-WO						
NDUSTRIAL LTS - STD SINGLE W/ BATTS 12800452071 12AA-B 2AA INDUSTRIAL BTRY 6 7.9 4 12800508303 12DLED-B 2D INDUSTRIAL LED F 6 12.68 76 12800451234 12D-B 2D INDUSTRIAL LED F 6 10.16 60 60 60 60 60 60 60	RAYIN3						53.8
12800451234 12D-B	INDUSTRIAL LTS	12800452071 I					47. 76.0
RAYILJ2AA-B 12800465804 ILJ2AA-B 2AA INDL SWIVEL W/B 6 11.18 67 12800465835 ISL2D-B 2D INDL SWIVEL/BTRY 6 14.36 86 LANTERNS SINGLE W/ BATTS 12800465781 I6V-B2 6V INDL LTRN/BTRY 2 15.84 31 IND LTS - ECONOMY SINGLE W/O BATTS 12800482337 IV2D 2D FLASHLIGHT 12 3.94 47 ISL 12800482337 IV2D 2D ROUGHNECK 6 13.64 81 ISL 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ISL 12800451135 R2D 2D ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA TACT 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK AAA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D IW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D IW LED 4 16.8 6 12800512249 RNC3AA-B ROUGHNECK C 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AAA LED C 4 42.32 168		. 1.00 시민들은 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그					60.9
12800465835 ISL2D-B 2D INDL SWIVEL/BTRY 6 14.36 86 LANTERNS SINGLE W/ BATTS 12800465781 I6V-B2 6V INDL LTRN/BTRY 2 15.84 31 IND LTS - ECONOMY SINGLE W/O BATTS 12800482337 IV2D 2D FLASHLIGHT 12 3.94 47 ROUGHNECK SINGLE W/O BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/ BATTS 12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK XTREM 6 11.3 6 12800512195 RN2D1W-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512201 RNR2D-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AAA LED C 4 42.32 168	INDSTRL LTS - S	SWIVEL SINGLE W/ BATTS					
12800465835 ISL2D-B 2D INDL SWIVEL/BTRY 6 14.36 86 LANTERNS SINGLE W/ BATTS 12800465781 I6V-B2 6V INDL LTRN/BTRY 2 15.84 31 IND LTS - ECONOMY SINGLE W/O BATTS 12800482337 IV2D 2D FLASHLIGHT 12 3.94 47 ROUGHNECK SINGLE W/O BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/ BATTS 12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK XTREM 6 11.3 6 12800512195 RN2D1W-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512201 RNR2D-B ROUGHNECK 2D TW LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AAA LED C 4 42.32 168	RAYILJ2AA-B	12800465804 I	LJ2AA-B	2AA INDL SWIVEL W/B	6	11.18	67.0
12800465781 16V-B2 6V INDL LTRN/BTRY 2 15.84 31 IND LTS - ECONOMY SINGLE W/O BATTS 12800482337 IV2D 2D FLASHLIGHT 12 3.94 47 ROUGHNECK SINGLE W/O BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/ BATTS 12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK AAA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK AAA FOCUS 4 19.38 77 12800512201 RNR2D-B ROUGHNECK 2D TW LED 4 16.8 6 12800451166 R3D 3D ROUGHNECK 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 168		12800465835	ISL2D-B	2D INDL SWIVEL/BTRY		14.36	86.1
ND LTS - ECONOMY SINGLE W/O BATTS 12800482337 IV2D 2D FLASHLIGHT 12 3.94 47 47 47 47 47 47 47	LANTERNS SING	GLE W/ BATTS					
12800482337 IV2D 2D FLASHLIGHT 12 3.94 47 ROUGHNECK SINGLE W/O BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/ BATTS 12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 129 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169		12800465781	6V-B2	6V INDL LTRN/BTRY	2	15.84	31.6
ROUGHNECK SINGLE W/O BATTS 12800451135 R2D 2D ROUGHNECK 6 13.64 81 ROUGHNECK SINGLE W/ BATTS 12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 129 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169	IND LTS - ECON	OMY SINGLE W/O BATTS					
ROUGHNECK SINGLE W/ BATTS 12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 129 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169		12800482337 I	V2D	2D FLASHLIGHT	12	3.94	47.2
ROUGHNECK SINGLE W/ BATTS 12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 129 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169	ROUGHNECK SI	NGLE W/O BATTS					
12800512256 RNT3AAA-B ROUGHNECK 3AAA TACT 4 37.54 150 12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 129 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169		12800451135 F	R2D	2D ROUGHNECK	6	13.64	81.8
12800512348 RNHL3AAA-B ROUGHNECK 3AAA LED 4 25.86 103 12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 168	ROUGHNECK SI						
12800485727 R2AA-BA 2AA ROUGHNECK XTREM 6 11.3 6 12800512188 RNF4AA-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 168							150.1
12800512188 RNF4AA-B ROUGHNECK 4AA FOCUS 4 19.38 77 12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169					4	25.86	103.4
12800512195 RN2D1W-B ROUGHNECK 2D 1W LED 4 16.8 6 12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169		12800485727 F	R2AA-BA	2AA ROUGHNECK XTREM		11.3	67
12800512201 RNR2D-B ROUGHNECK 2D RUBBER 4 32.32 128 12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169		12800512188 F	RNF4AA-B	ROUGHNECK 4AA FOCUS	4	19.38	77.5
12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169		12800512195	RN2D1W-B	ROUGHNECK 2D 1W LED	4	16.8	67
12800451166 R3D 3D ROUGHNECK 6 14.32 85 12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169		12800512201	RNR2D-B	ROUGHNECK 2D RUBBER	4	32.32	129.2
12800512249 RNC3AA-B ROUGHNECK 3AA LED C 4 42.32 169		12800451166	R3D	3D ROUGHNECK		14.32	85.9
ANTEDNS SINCLE WO BATTS		12800512249	RNC3AA-B	ROUGHNECK 3AA LED C			169.2
AMERICA DE LA DECEMBRA DE LA SERVICIO DE LA CALIFORNIA DE	ANTERNS SING	SLE WIO BATTS					



Customer							rice On :
Customer SKU	UPC	Stock Number	Description	Case Qty	UOM	LIST Unit	Case
	12800473946	SP4D-KB	4D SPORTSMAN LTRN/K	6		18.68	112.08
RAYSP8D	12800475543	SP8D	SPORTSMAN 8D LANTER	4		45.32	181.28
	12000 1000 10	01 05	or ordinary ob Extrem	0.49		10.02	101.20
SPORTSMAN-ST	D SINGLE W/ BATTS						
	12800491391	SPHLTLED-B	SPORTSMAN 3AAA LED	4		20.82	83.28
	12800507108	SPHLT3AAA-B	SPORTSMAN 3AAA LED	4		21.72	86.88
	12800507542	SPHW3AAA-BX	SPORTSMAN 3AAA .5W	6		15.5	93
SPORTSMAN EXT	REME SINGLE W/O E						
	12800508587	SE3DLNTP	SPORTSMAN XTREME 3D	4		42.34	169.3
	12800506514	SE4W3C	3C SPORTSMAN EXTRE	4		41.92	167.68
SPORTSMAN EXT	REME SINGLE W/ BA	TTS					
	12800506484	SE1WHLT-B	1AA SPORTSMAN EXTRE	4		34.14	136.56
	12800512171	SE3AAAMN-B	SPORTSMAN XTREME 3A	4		21.16	84.64
	12800512867	SE5LEDHLT-B	SE5LEDHLT-B LINT RO	4		14.1	56.4
	12800507894	SEF2AA-B	SPORTSMAN EXTREME 2	4		39.5	158
	12800506996	SELUX2AA3W-B	2AA SPORTSMAN EXTRE	4		46.58	186.32
	12800507870	SP1W3AALN-B	SPORTSMAN 3AA 1W LE	4		22.58	90.32
	12800507610	SE3AAHDLT-BX	3AA SPORTSMAN EXTRE	4		56.54	226.16
LANTERNS SINGI	E MII DATTO						
RAYEVBFL6V-B	12800502806	EVBFL6V-B	6V FLTG LTRN/BTRY	6		7.16	42.96
INATE VOI LOV-D	12800502000	EFL6V-B	VALUE BRIGHT 6V FLO	6		7.16	42.96
				===			1712
VALUE BRIGHTS							
	12800509812	EVB2D2D-BD9A	VALUE BRIGHT 2D MUL	6		7.24	43.44
VALUE BRIGHTS	SINGLE W/ BATTS						
	12800507139	EVB2AA-BA	2AA VALUE BRIGHT FL	6		1.8	10.8
	12800505661	E2D-BB	VALUE BRIGHT 2D ECO	6		3.86	23.16
OTHER ECONOM	Y LIGHTS SINGLE W/	BATTS					
O THEN EGONOM	12800501380	E2AA-B	2AA ECONOMY LIGHT W	6		1.8	10.8
KRYPTON CARDS		F9W-1	9 WATT FLUORESCENT	6		5.88	25.00
	12800485833	K3-2		6		3.02	35.28
RAYK2-2	12800376223	K3-2 K2-2	K3-2, BULB 2 PER P	40			120.8
NATNZ-Z	12800376148 12800385478	K13-2	BULB 2 PER PACK BULB 2 PACK PRE-FOC	40 40		3.02 3.02	120.8 120.8
	12000000470	1110 2	DOED Z I NOK I KE I OO	40		0.02	120.0
HIGH INTENSITY	CARDS						
RAYT1-2	12800403035	T1-2	BULB 2 PER PACK	40		3.6	144
LIGHT ACCESSOI	RIES BOX						
LIGITI AGGEGGGI	12800488216	W8B	8IN POLY WAND RED	12		2.82	33.84
LANTERNS SINGL		00414	0///07/07/04/170//075	_		44.00	0.40.00
RAY301K	12800465569	301K	6V KRYPTON LTRN/BTR	6		41.38	248.28
	12800403370	KFL	6V KRYPTON FLTG LTR	6		11.2	67.2
REMINGTON ARM	IS LIGHTS SINGLE W	O BATTS					
	12800508853	RM4DLN	REMINGTON ARMS 4D L	4		58.22	232.88
	1200000000	INMADEIA	INCIVITION ON ANNO 4D L			00.22	202.00



					F	Price On :
Customer	UPC	Stock	Description	Case	LIST	
SKU		Number		Qty UOM	Unit	Case
REMINGTON A	RMS LIGHTS SINGLE W	TITH BATTS		Į,		
	12800512751	RMBT3AAA-B	REMINGTON ARMS 3AAA	4	28.22	112.88
	12800508846	RM3AAA-B	REMINGTON ARMS 3AAA	4	51.74	206.96
	12800508785	RMC2AA-B	REMINGTON ARMS 2AA	4	51.74	206.96
	12800508808	RM2AA-B	REMINGTON ARMS 2AA	4	45.28	181.12
	12800508839	RMHL4AA-BTP	REMINGTON ARMS 4AA	4	64.68	258.72
	12800508815	RM123A-B	REMINGTON ARMS 123A	4	64.68	258.72
BLACK & DECK	KER SINGLE W/BATTS					
	12800513369	BDSC-B	BLACK & DECKER 2AAA	4	15.5	62
	12800513406	BD2AAS-B	BLACK & DECKER 2AA	4	11.28	45.12
	12800513390	BD2AA-B	BLACK & DECKER 2AA	4	9.86	39.44
	12800513352	BDCLIP-B	BLACK & DECKER 2AA	4	21.16	84.64
	12800513413	BD2DS-B	BLACK & DECKER 2D S	4	16.92	67.68
	12800513345	BDC3AA-B	BLACK & DECKER 3AA	4	42.32	169.28
GEN PRPS I NT	IN BATTS SINGLE					
OLIVI III O LIVI	12800226405	641	6V SPECIAL APPL	6	45.36	272.16
RAY918	12800186891	918	6V GEN PRP LTRN BTR	6	16.2	97.2
141010	12800222858	941	6V GEN PRP LTRN BTR	12	5.22	62.64
RAY926	12800206285	926	12V GEN PRP LB	6	20.06	120.36
10/1020	12800165766	903	7.5V EMERGENCY BTRY	4	47.88	191.52
HVV DUTV I NT	N BATTS SINGLE					
RAY945R4	12800223350	945R4	6V HVY DTY LTRN BTR	4	8.34	33.36
11/1/1845114	12800223330	944R	6V HVY DTY LTRN BTR	4 6		
	12000223435	944K	OV HVY DIT LIKN BIK	0	6.96	41.76
HVY DUTY LNT	N BATTS TWIN PACK				7.5.2.2	
	12800374083	944-2R	6V HD LTRN BTRY 2PK	4	13.52	54.08
MAXIMUM LAN	TERN BATT SINGLE					
	12800500253	808	6V ALKALINE LTRN BT	4	17.22	68.88
	12800463664	806	6V ALKALINE LTRN BT	6	15.64	93.84
RAY803	12800464418	803	7.5 V EMERGENCY LAN	4	51.06	204.24
GEN PRPS LNT	N BATTS BULK OTHER					
	12800421350	6V-GP	6V GP INDL LTRN BTR	12	4.86	58.32
HVY DUTY LNT	N BATTS BULK OTHER					
	12800421688	6V-HDM	6V HD INDL LTRN BTR	12	6.72	80.64
RAY6V-HD	12800421503	6V-HD	6V HD INDL LTRN BTR	12	5.64	67.68

Rev. 09/08

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

Division	will make the determination of the Resident veries.		
1.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preced-		
<u></u>	ing the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,		
^{2.} √	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,		
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,		
4. 🗸	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,		
5.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted: or.		
6.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.		
Bidder understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the requirements for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty against such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency and dusted from any unpaid balance on the contract or purchase order.			
the re	Inducted from any emparts stated by the process of the Director of Purchasing appropriate information to the Purchasing Division and objects the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid a particle business taxes, provided that such information does not contain the amounts of taxes paid nor any other information and by the Tax Commissioner to be confidential.		
Under penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificand accurate in all respects; and that if a contract is issued to Bidder and if anything contained within this changes during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.			
Bidd	er: <u>STATE ELECTRIC SUPPLY CO. INC.</u> Signed: BU Blurins : 10/27/11 Title: <u>HUNTINGTON MANAGER</u>		
Date	: 10/27/11 Title: HUMINGON MANAGER		

*Check any combination of preference consideration(s) indicated above, which you are entitled to receive.

RFQ No. DCBATTIIA

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

WITNESS THE FOLLOWING SIGNATURE

Vendor's Name: STATE ELECTRIC SUPPLY Co. TNC. Authorized Signature: Bill Bluins Date: 10/27/11			
Authorized Signature: Biy Bluis Date	e: 10/27/11		
State of			
County of <u>Cabell</u> , to-wit:			
Taken, subscribed, and sworn to before me this That of October, 20//.			
My Commission expires			
AFFIX SEAL HERE NOTARY PUBLIC (V)	endo Meehly		

